HER R E

—
ESid= 108 10H KREEH | 832 A —
Bk % 3 Jf IIEEEZRE VWAITADQDZEWLS WaEht §
TADE ] -
HIES BRE  |aw|trR| GAE | mAR wasE 9Y5 FoE WESE | ph e
(g)
==
43|, CERRFA R ) |200m| 206| 807(x| 808|*
R
FRIEBARBAK [1oke] 95| 79|k K @FkXKL. KELS
sgibk (ERE) 60g| 0.26| 0.22|ks & Q@ EDKTHRL
(KEE1.33~1.34%) |[SFEEX]
A
SEEEH KR Hxaoys
B -BICIYTE |ROFEFL 2R, 00 mE IR 18
SEEZEZET0g  |70g| 70| 832|E| 105|% FE#HHE 1R’
BREI1E
VDAIFADTEDD BE1E
WAITA 500¢| 37.5| 31|ke| 62|% 3km FHWT |OmZEHL. LVAITFA. [EFX 4B
IZALAU\BER)|1Kg| 6.25 5.3 ke 5.3 ke ALY TRTIASEWOHS
EE (=) 100g| 1.88| 1.6]xe 6= QA3 %
" kg 1]ke QTFEMAZS
EKiEBYSH M 1.35kg|isske| 0.62| 0.52|ke Ket
=R 1tkg| 0.75] 0.62|«e Ker
SUKBLESW (FATRED |1.8L] 2.75| 2.29|ke
R
BAGRASIR(BE) |1kg 20 17 |ke 17 |ke DfELEES
EENEFEe\ER) [1Kg| 30| 28|xe| 28lke —OX QEAZMAD
AEIMY (30 (REXTER |{kg 25 20 ke 20 |ke SLVOBEYY (QAS,. ZIE5FMZ5
IZALAUNBER) |1Kg| 12.5| 10.6|xe| 10.6|ke LB ES5EY QEE. MEboEMZ5
CIF5U\ER) |1Kg 10 9 ke 9 ke EINE HBURE | DA FEBEAND
ELRhEJ\BER) |1Kg| 3.75 3 ks 3 ks Nnagy OhEEMAS
HhHrEHZEAKM) |[1kg| 15.38 13|xe 13|@&
WY (#F=L) 500g| 2.5 2|ke 2|
K 131.25| 109|ke
BRI % TADE |txrrvene| BREke)| BRER RE
4 F| 206| 171.39
R 550 457.60
SIEEEZE 70 58.24
WAIFADT T &H 45 37.44
LWVEhvit 210 174.72




